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7. Calcium carbide reacts with wates to produce acetylene gas, C,H,. %q K 2.

CaC,(s) + 2H,0() — Ca(OH),(aq) + C,H
2(5) @ (OH),(aq) 2\2 > 0 -q (
Calculate the volume (in liters) of acelytene produced @ 684 2 35.6 grams of water
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8. Magnesium burns in ait to produce magnesium oxide, MgO, and magnesium nitride, Mg;N,.

: Magnesium nitride reacts with water to give ammonia.

: MgN(s) + 6H,O@) — 3Mg(OH),(s) + 2NH,(g)
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g What volume of ammonia (NH,) gasat 24 °C 4nd 753 'will be produced from 4.56 g of 2
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9. How many moles of hydrochloric acid must react with excess calcium carbonate to form 18.0 L oT‘
CO, at STP?

2
CaCO,, + 2HCl,, 2 H,0p + COyy + &W
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ow many Zters of ozone can be destroyed at 22(
ozone according to the following equation?
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